R 6 5K MBAmE —FRARE RSN PR TE HOFHEEE)  FERER)

A - FER - AR Hiks HAL e W &
B T H g GERR AR5
1. T V=687m3
(1) ET CK#) EC. 77~BC. 79
Gt Bt F20 1. 000
PRYE T FEAB A Hl m3 77. 000
MRT BRI L m3 56. 000
aR=UEEUNC=UNEY) Hebdim il (A J10F) m3 58. 000
LA T (B0 B+ B b 1) m3 24. 000
A ERDA Bt FEARAR A m3 93. 000
A B L1 1 BT AR m 38. 100
Gt WesE (1)A F20 1. 000
PRYE T B A Hl m3 100. 000
Fr e A (B0 BEmAm Al (NAI0FH) m3 111. 000
LA T (B #os (1)A B A ) m3 204. 000
fEHERA WOE T A B A ) m3 244. 000
Ak B L 1 BT Bk m 95. 600
Gt wes I F20 1. 000
Heb e T ORE L) #OE I A m3 4.000
N3G PR A A 1 m3 29. 000
FEAR A T (HEH ) BRI 1 m3 80. 000
A LR PRE WOA T B ARAE ] m3 36. 000
fEERNA  (Cs D BEARARAIA m3 66. 000
Bt =X 1. 000
AR 1 BEIR, B L - i oD m3 132. 000
Pk 1 B, B L - i oD m3 85. 000
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THE - FER - AR Btk HAL Kok i *&
BEMOEM #UE - L=0. 03km B m3 13. 000
PR #C5 T A L=0. 03km B m3 34. 000
PEMWOER: WS 1T L=0. 03km B m3 9. 000
B g =X 1. 000
s #E L L=5. Okm B m3 80. 000
B TER S T A L=5. Okm B m3 210. 000
i TER S T L=5. Okm B m3 57. 000
B+ BEAR - SELR, BHh LA oD m3 347. 000
P 7%+ K 1. 000
A T AEA BEMATIA m3 347. 000
R R R (B HL Y 2) B ot 159. 100
2. BmL A=283. 0m2
(1) ¥ T CR#R) No. 149~No. 151+16. 0
1 L X 1. 000
a7 Y — MEHET JE & 15cm ot 283. 000
R L ¢ 6.0X150% 150 nf 259. 600
H Hitk VR MEAEEL B HBR t=10mm o 8.500
AL IR O AR (18) m 70. 200
fityes — A, By Lav)) -} i 0. 700
HZ T f’éﬁf%? ske/m kg 160. 800
3. EmEiREL A=133. Tm2
(1) MR T R
IEmERE L =X 1. 000
fAE~ > k nf 38. 100
7 ABRT nd 95. 600

2/6




R 6 M MBS FHRARY EET AR LTHE HOFHESR) BERER)
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4. BEEET
(1) iERE T (CR#R) av))-MgERE T, V=150. 3m3
HERE T (2))-1) No. 150~No. 151+13. 3 X 1. 000
s %’s};‘%i ég;/f”‘o (5 m3 150. 300
g E nd 55. 400
5. PeAKfERR L
(1) HEKkfizz L
WRL(ZL—F27) No150+18. 4 (MC. 78) f-}3T F20 1. 000
SR L —F 7 (EEZ ) PIBTT =25 9956600 | 4 8. 000
oy 7Y —F éﬁ%ﬁiﬁ%” TR 18 3. 600
R — PRI, /NS E ) ot 21.800
SR A T 20cm, B L ot 10. 000
ay 7 Y—F éﬁ%@%}iﬁ” TR 18 5. 200
b — PRI, /NS E ) ot 12. 300
AT 20cm, B L ot 6. 600
FLE IR m 6. 600
SN 7 &50cm X 1§ 120cm m 2. 000
PEAAR HIFRA 7 (YR 1) B A 1) m3 11. 000
AR I AEA 7 (R (1) A) PR 11 m3 2.000
& LER BE L L=5. Okm B m3 11. 000
B LER 8 T A L=5. Okm B m3 2. 000
a7 J—hERT No150+18. 4 (MC. 78) {3 2V 1. 000
2L s ) — gj%*%%g?’ TR 18 4.000
fithes — I, N S o 17. 500
WER Y e =% HREVU 265  &4.0m A 0. 500
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KRE T 4 V4 — ¢ 65mmH 1l 5. 000
ST A T 20cm, B L ot 7. 400
I ot 7. 400
R IR L BC. 78~MC. 78 2V 1.000
BERFRT. (A% A ) m 8. 400
B AR Y e =% MREVU 12200 F4.0m EN . 600
6. BT 1. 0K
(1) 8B4 s T
H—RL— E20 1. 000
A MV 3 ;E”—}@ﬂ\’ R R | 28. 800
B =N VR E ;%‘Eﬁu—b@@, AL LC, HhifR m 16. 000
FHTRER A 13mmEL T ton 0. 030
7. L 1. 0=
(1) e T
R L X 1. 000
A DIREM m 55. 800
(2)H— R —dk - iE
H—FL— ik - RiE X 1. 000
=N V- ) -MEAH, C m 8. 000
M N o /) -MEEA, BBAEAC m 8. 000
RN &S ) -MaEAH, C m 6. 500
B VR E /) -MEEA, BBAEC m 6. 500
B =b TAEEAM, C 12. 500
B VR E T ENA, Bk m 12. 500
8. XFEALPLT 1. 0=
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(1) kRt

B 2% =X 1. 000
A AR A 16em EN 1. 000
A AR B 17cm EN 1. 000
A AR B 19em EN 1. 000
A AR S EAE 20em EN 3. 000
A AR B 2lem EN 1. 000
AR ARE B 22cm EN 2. 000
A ARE B 24cm EN 2. 000
A ARE S EAE 25em EN 2. 000
AR ARE B 26em EN 1. 000
AR ARE B 28em EN 2. 000
AR ARE faEERE 29cm KN 2. 000
AR ARE fasE R 30cm KN 3.000
AR ARE faEEfE 32em KN 3.000
2K RE fasE R 33cm KN 1. 000
AR ARE fasEfE  36em KN 1. 000
AR ARE fasEfE 37cm KN 1. 000
Ax RERE ez 38cm EN 1. 000
Ax RERE e 39cm EN 1. 000
Ax RERE fsEfE  42em EN 1. 000
Ax (RERE e 43cm EN 1. 000
Ax RERE e 46em EN 1. 000

TfRE v/ *x 2y 1. 000
v/ X fkiRE M EE  14em EN 1. 000
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A - FER - AR Hiks HAL e W &
b /% (KERE MBS 15cm A 1. 000
B/ % KER# MEE A 19em S 2.000
B/ % kER# MmE R 20cm S 1. 000
B/ % RER# MmE R 26cm S 1. 000
B/ % kER# MmE R 33cm S 1. 000
RERE MR F20 1. 000
MR Dbt Mg 3lemPd b m3 3.900
(2) RikI sy
TRERAL 55 B X 1. 000
TREREME 1=29. 2kn m3 10. 200
TR 55 2 ton 14. 500
(3)Be& At
CESAER =X 1. 000
CESAER ot 719. 000
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